MatrikelNr

179390
181246
185321
189280
195956
196189
199811
410775
412321
500200
501755
502435
503059
503601
503605
507392
507514
509171
512239
513247
513873
514062
514491
514516
514541
514544
514557
514567
514580
514582
514609
514610
514617
514619
514620
514621
514622
514631
514633
514638
514664
514708
514736
514796
515101
515159
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Sheetl

0 0
155 7.5
6.5 0
7.5 5
45 75
3.5 0
25 05
2 8
45 25
11.5 1
11 1
155 4
20 12
15 13
12 95
17.5 2
-1 -1
-1 -1
18 13
11.5 10.5
20 2
14 3
18 10
6 3.5
155 8.5
17 9
145 10
-1 -1
11 7
-1 -1
-1 -1
8.5 0
18 5
175 7.5
18.5 6
10.5 12.5
195 11
9.5 1
18.5 8.5
11.5 45
-1 -1
17 2
175 11
9.5 5
125 45
12.5 9

A6 A7 UE
Punkte = -1: nicht erschienden trotz Anmeldung

6.15
1.69
4.62
5.19
8.65
0.69
7.72
3.08
4.54
9.34
7.75
8.65
6.44

0.85
9.22
9.39

9.7
9.27
4.77
9.41
8.88
8.65
9.24
3.22
7.67
9.06
8.09
9.14
7.69

8.4
9.45
9.36
8.98
9.68
2.52
7.95
6.91
9.05
9.03
9.48

8.6
8.88

Note

9 nicht bestanden
67
50.15
39.19nicht bestanden
52.12
32.69nicht bestanden
40.15nicht bestanden
39.69nicht bestanden
50.72
55.08
50.54
61.34
90.25
88.15
70.94
60.3
-6.15nicht bestanden
2.22nicht bestanden
83.89
91.2
71.77
76.77
78.41
64.38
70.15
82.74
77.22
0.67nicht bestanden
81.56
1.09nicht bestanden
2.14nicht bestanden
56.19
68.9
87.45
74.36
75.48
99.68
57.02
71.95
59.41
2.05nicht bestanden
82.53
78.48
61.5
63.1
76.88
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515600
515611
515698
515709
515746
515762
517031
518031
518042
518052
518374

7.5

Sheetl

12 3
9 9
16 6
17 75
16 5
145 12
21 10
-1 -1
145 6
17 3
15.5 10.5

Page 2

1.19
9.06
9.05
8.52
4.25
8.75

9.64

9.1
8.55
4.39

50.19
67.56
72.55
70.02
62.25
90.25
95
2.64nicht bestanden
67.1
62.05
86.89
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